
Given the derivative, find the function:

1. F’(x) = 2x – 5 

2. F’(x) = 8x + 2

3. F’(x) = 12x

4. F’(x) = 3x2 + 3 

5. F’(x) = -2x – 3 

6. F’(x) = ½ x – ½ 





 F(x) is the antiderivative of f(x) if F’(x) = f(x).

 The most general antiderivative of f(x) is F(x) + C, where C is an 
arbitrary constant.

 Rules:

Derivatives Antiderivatives

f(x) = a F(x) = ax + C

k f(x) k F(x) + C

f(x) = xn





Derivatives Antiderivatives

f(x) = cos x F(x) = sin x + C

f(x) = sin x F(x) = -cos x + C

f(x) = sec2 x F(x) = tan x + C

f(x) = sec x tan x F(x) = sec x + C

f(x) = csc2 x F(x) = -cot x + C

f(x) = csc x cot x F(x) = -csc x + C








